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iE % NI TSR CERIR) BRI S LS
% # s - BRHE By B il & & 1

B R 13,834,950 + 423,772 14,258,722
EEAGE 13,834, 950
EERE 423,772
Z DR 13,834,950 x 53.85% ( 35% = (1 — 35%) ) 7,450,120
SRR 14,258,722 + 7,450,120 21,708, 842
—REEEE 21,708,842 x 53.85% ( 35% = (1 — 35%) ) — 9,053 11,681,158
KBS 21,708,842 + 11,681,158 33,390, 000
B FEZET 33,390,000 x 10.00% 3,339, 000
EBERREM 33,390,000 + 3,339,000 36,729, 000




BEARRE ML TSR Gl ) MR S 2%

) R Big - MAKTHE Bl % 8 B & i) Hm =
BRI 14, 258, 722
BaE3] 14, 258, 722
EhEE%F 14, 258, 722
EHRE 13, 834, 950
ETEE R 315, 700
1 EHEEEE 1.00 117, 400 117, 400
=
2 BRE 1.00 198, 300 198, 300
=
KiEREtF 11, 610, 200
3 HEHE 1.00 728,700 728, 700
=
4 HEERK 1.00 4, 622, 000 4,622,000
=
S BMIEIREHE 1.00 769, 800 769, 800
=
6 HBEREE 1.00 796, 800 796, 800
=
1 I AEDBRE 1.00 3, 041, 100 3,041,100
=
8 A HMER 1.00 1, 651, 800 1,651, 800
=
R 451, 350
9 EBTHRREER 1.00 451, 350 451, 350
=
thiE - |E 729, 000
10 %3 - |E 10. 00 72,900 729, 000




BERNRE B Tm A CRRHR) RIGRI S 275

RE 728, 700
1 BE 1.00 728,700 728, 700

=
EEEE 423,712
EHRARE 123,772
12 EHRARE 1.00 123,712 123,772

=
R 300, 000
13 XBMRR 1.00 300, 000 300, 000

=




R/ Sy — MR 2B R CBRBR) BB S 2T

&5 1
2 StEER 14y
£ [ R - KT B B =2 B {f € ® W E w =
F{EHRAm GRED
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
& Hi 1EZRERN  1.00K 117, 400. 00 117, 400
52
L WiAE 14y
% b R - KT B B = B O{f * % W E H %
FEHAR (F%E)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
HER (B)
A 1.00 45, 300. 00 45, 300
HER (C)
A 1.00 35, 600. 00 35, 600
& it 1E%8ERH : 1.00=C 198, 300. 00 198, 300
= :3
2% BEHE 14y
% L] R - KT ==Rivi B = B @ € ¥ W E g &
HER (B)
A 3.00 45, 300. 00 135, 900
HER (C)
A 6.00 35, 600. 00 213, 600
Hiftg
A 12.00 31, 600. 00 379, 200
& B 1E%8ESN : 1.00=C 728, 700. 00 728, 700
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BS54
2% . REEK 1XEY
£ [ R - KT B = B {f £ £ w =
HEm (B)
A 12.00 45, 300. 00 543, 600
HEh (C)
A 40. 00 35, 600. 00 1,424, 000
i &
A 84.00 31, 600. 00 2,654, 400
& B 1EZ%EBER - 1.00K 4,622, 000. 00 4,622,000
5.5
&% MEITEEET IEED
4 b R - KT By £ B i & ) H %
HER (B)
A 6.00 45, 300. 00 271, 800
HER (C)
A 6.00 35, 600. 00 213, 600
Hiftg
A 9.00 31, 600. 00 284, 400
& g EBER - 1. 00K 769, 800. 00 769, 800
=:6
£ BEREE X5y
% L] R - KT B = B @ £ %8 g &
HER (A)
A 4.00 55, 200. 00 220, 800
HER (B)
A 8.00 45, 300. 00 362, 400
HER (C)
A 6.00 35, 600. 00 213, 600
& g YEEBEA - 1. 00K 796, 800. 00 796, 800




R &I/ \vr—2

ML T2ERF CBrtR) RIEHRTF RS

&5 1
&% I ARO®RE IEED
£ b3 B - BIKTE =-Fiv] = B i ® 5 w =
F{EHRAm GRED
A 13.50 62, 200. 00 839, 700
HEm (A)
A 13.50 55, 200. 00 745, 200
HEm (B)
A 18.00 45, 300. 00 815, 400
HEh (C)
A 18.00 35, 600. 00 640, 800
& Hi 1EZRERN  1.00K 3,041, 100. 00 3,041,100
%58
& BEERERK IEED
% b R - KT BT B = B O{f ® £ H %
FEHAR (F%E)
A 6.00 62, 200. 00 373, 200
HER (A)
A 9.00 55, 200. 00 496, 800
HER (B)
A 6.00 45, 300. 00 271, 800
HER (C)
A 9.00 35, 600. 00 320, 400
Hit &
A 6.00 31, 600. 00 189, 600
& B 1E%8ESN : 1.00=C 1,651, 800. 00 1,651, 800
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5.9
¥ EFTEREEER 1XEY
£ [ R - KT B B =2 B {f £ £ W E w =
F{EHRAm GRED
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
HEh (C)
A 3.00 35, 600. 00 106, 800
& &t 1EZ%EBER - 1.00K 451, 350. 00 451, 350
=:10
& 5% - ;e HEED)
4 b R - KT By B = B i & ) W E H %
HER (A)
A 0.50 55, 200. 00 217, 600
HER (B)
A 1.00 45, 300. 00 45, 300
& &t {EZBEA - 1.00ME] 72, 900. 00 72,900
511
&% BE X5y
% L] R - KT B B = B @ £ %8 W E g &
HER (B)
A 3.00 45, 300. 00 135, 900
HER (C)
A 6.00 35, 600. 00 213, 600
Hiftg
A 12.00 31, 600. 00 379, 200
& g YEEBEA - 1. 00K 728, 700. 00 728, 700
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ML T2ERF CBrtR) RIEHRTF RS

&S 12
&% EHARE 14y
£ [ R - KT B = B {f £ £ w =
EBRARE
= 1.00 123,772.00 123,772
& Hi 1EZRERN  1.00K 123,772.00 123,772
&5 :13
&% EBHER 14y
4 b R - KT B = B i & ) H %
EBHRERE
= 1.00 300, 000. 00 300, 000
& it 1E%8ERH : 1.00=C 300, 000. 00 300, 000






